分数四则混合运算练习题
(1)（eq \f(3,8)+eq \f(1,9)）×8+eq \f(37,9)
(2)eq \f(8,15)×23+eq \f(8, 15)×113-eq \f(8,15)
(3)eq \f(2,13)÷eq \f(17,2)+eq \f(2,17)×eq \f(11,13)-eq \f(2, 17)×1
(4)eq \f(1,3)×17+eq \f(5,8)×1+17×eq \f(2,3)+5×eq \f(7,8)
参考答案：
(1)（eq \f(3,8)+eq \f(1,9)）×8+eq \f(37,9)
=eq \f(3,8)×8+eq \f(1,9)×8+eq \f(37,9)
=3+eq \f(8,9)+eq \f(37,9)
=3+5
=8
(2)eq \f(8,15)×23+eq \f(8, 15)×113-eq \f(8,15)
  =eq \f(8,15)*(23+113-1)

=eq \f(8,15)*135
=72
 (3)eq \f(2,13)÷eq \f(17,2)+eq \f(2,17)×eq \f(11,13)-eq \f(2, 17)×1
=eq \f(2,13)×eq \f(2,17)+eq \f(2,17)×eq \f(11,13)-eq \f(2,17)×1
=eq \f(2,17)×(eq \f(2,13)+eq \f(11,13)-1)

=0

  (4)eq \f(1,3)×17+eq \f(5,8)×1+17×eq \f(2,3)+5×eq \f(7,8)
=17×(eq \f(1,3)+eq \f(2,3))+eq \f(5,8)×(1+7)

=17+5=22
